21, [APHYER PASXON HA HABNONIABAHWTE CEMEACTBA HA PABOTHUIN
[0 MECEOA SA 1964 T,

I
PasxoX - BOHMUKO 130 127 13¢ 151 140 137 153 155 158 157 157 157
Xpasa 52 52 56 59 57 58 59 62 62 65 62 63
CNEpTHN HaNMHTEE 4 2 2 4 3 3 3 3 2 2 8 4
[[Er8pE B TOTDH 3 3 3 3 3 3 4 4 4 4 4 4
06aerno 22 19 19 26 16 19 18 22 26 21 23 27
Xunume 8 18 8 15 16 18 28 19 16 17 17 13
JlouamE0 0038~=
BOXJIEHE 6 5 5 5 4 4 4 6 7 8 8 o
ATYPEE H
meCTBEH XHMBOT 9 7 10 6 7 6 1 8 =) 74 7 10
Xermena 2 2 2 2 2 2 2 2 1 2 2 2
[lOmeECEE E TPAHC=
NOPTHA YCIYyTHE 4 3 4 4 5 5 5 6 6 5 5 4
JlaHBOE H TAECH 8 9 9 9 9 8 8 9 9 9 9 8
Ipyrm 12 12 16 18 18 16 15 14 16 17 17 15
X x X
Bnorose B cHECTOBHA EacA 18 19 17 17 19 17 17 20 17 19 15 15
HannaTeHN 586MH H CYMH
ZSZGHH B 886N 8 9 10 12 11 12 12 10 10 9 10 11
CpezHO HA IWMIe =— NOBA
Paaxon - BCHYUEO 3% 35 37 42 38 38 42 43 44 43 43 43
Xpara 14 14 16 16 16 16 16 17 17 18 17 18
COUpTEM HANHTEH 1 il 1 i 1 1 0 0 1 1 1 1
[larape ¥ TOTOH 1 1 1 1 0 1 1 1 1 1 il 1
06aermo 6 5 5 7 5 5 5 6 7 6 6 8
Kunome 3 3 2 4 4 4 8 5 4 5 5 4
JlouamEo 0038~
BOE7AHE 2 2 1 1 i 1 1l 2 2 2 2 2
%mggnlmw 3 2 3 2 2 2l 2 2 2 2 2 g
Xurnena - 0 0 0 1 0 0 1 1 0 1 1 1
llomeHCER A TPAHO=-
NOPTHE pPASXOAR 1 1 1 1 1 1 2 2 2 1 1 1
JaEEOM W TARCH 2 3 2 3 3 8 2 3 2 2 2 2
HApyra 3 3 5 = 5 5 4 4 6 4 5 2
X
XX

Brnorose B OmecTOBHA KAcA
HanuaTeHA Ba6MH B CyME
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ABZGHA B 386M 2 2 38 3 3 3 3 - L 2 3
CrpyrTypa

Pasxox - BONYEO 100,0 100,0 100,0 100,0 100,0 100,0 100,0 100,0 100,0 100,0 100,0 100,0
Xpana 88,9 40,0 48,3 88,1 42,1 42,1 88,0 39,5 38,6 41,9 89,5 41,9
COEPTEM HENMHTEE 2,8 2,8 2,7 24 2,6 2,6 0,00 D0 20N R R A
[erape ® TOTOHE 2,8 2,8 7 2& 00 28 aas 2,8 2,8 2,8 2,8 22,38
O6xerno 16,6 14,8 13,5 16,6 18,2 18,2 11,9 18,9 15,9 18,9 14,0 18,6
Enxeme 8,9 8,6 5,4 95 10,5 10,5 15,0 11.6 5.1 156 SIS en
Howamso ofsp-
BOXAAHS 5.6 5,7 2,7 2,4 3'6 216 3.4 ‘.? ‘.5 ‘.7 ‘.7 ‘|7

RecTDeN xuBOR 8,3 5,7 8,1 4,8 58 B &8 47 &5 AR TN

Xuruena 00 0,0 0,0 2,4 0,0 0,0 3,4 283 0.0 5 AR
lomenckn u TpPaHO= )
NOPTEN yoxyrw 2,8 2,9 2,7 24 26 2,7 48 47 46 2,8 23 28
Jexsax = vaxon S 8,6 54 T 79 79 &8 70 £S5 L AT
Tpyrs 8,3 8,6 18,5 11,9 18,2 13,2 9,5 9,8 18,6 9,8 :&.& - i




